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Question Paper Specific Instructions 

Please read each of the following instructions carefully before attempting 
questions: 

There are EIGHT questions divided in two SECTIONS. 

Candidate has to attempt FIVE questions in all. 

Questions no. 1 and 5 are compulsory and out of the remaining, THREE are to be 

attempted choosing at least ONE from each section. 

The number of marks carried by a question I part is indicated against it. 

Answers must be written in ORIYA. 

Word limit in questions, wherever specified, should be adhered to. 

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of 

a question shall be counted even if attempted partly. Any page or portion of the page left 

blank in the answer book must be clearly struck off. 
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QI. 

SECTION A 

~Y)Q~g Q~Q6Q ~16Gl<9'gl~Q ~8,8611 ~Qlg QQ I ~6'JYQ g@Q 

150 '61Q Y1~6Q ~1?°1g Q2QI ~IQ<61YQ I 

(a) Q6E2Jl-Q6Ql81Q Ql~I 

(b) g~g ~gyQ 

(c) ~6QI~ CJg 

(d) ~Y11QQ61 

(e) ~OQ~ ~Q 

,-..,. - - - < - . 
(b) CJg6Ql8 ~§'Q16Q CJ<n' <()QQgc;tQ ~YIQI ~16Ql~'dl QQ I 

(c) gQl2Q61 ~<if 'Ui'~Q (3 6kJ1£1Q QIQY Y1~6Q 81ciQY Q~I~ I 
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25x2=50 

(a) 'f'llg~Q' Ql21~ ~l!lfJl'{J ? - <3??~1 ~QCJg~??~ 6'dQ ~16Gl<9'gl 

QQ I 25 

25 

25x2=50 

~ < 

(a) (3~~1 Ql~l6Q Q 0 6Q'21 Ql~IQ ~QIQ Qcall~ I 25 

(b) 8~Y1121Q1Q (3~~1 Ql~IQ Q6calf8~ Q~ICJ I 25 
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SECTIONB 

Q@Q 150 <31Q Y1Q.J6Q «11Y1~ 62<Q>I CJ l<Q><31~Q I 

(a) (3~CJI 681Q «112~~ I 
< ~ 

(b) <9'fl~IQ1~QIQ Ql~I I 

(c) (3~CJI ~£121~Q ~l~Q I 

(d) <sJ<Ol~<Q>IQ1 «112~YCJ IQI I 

(e) QQQ CJ ICJ_§Q~I I 

- - - < -
(b) (3~CJI <sJ<Q>~ «112~YQ CJIQ9 (3 QQl<31 «1°8Q6Q q_<9'gl QCJ I 

(c) «J~g S<J_QQ 6Q~~~ CJl6Gl'9'~1 QQ I 

(d) (3~CJI «1129YQ Q£121«16Q S<J_QQQIQ I 

Q7. 250 ~Q Y1~6Q ~'() ~iqJ<qJ__~QQ QGQ QCJ I 

(a) Yl~Q<011Q (3~CJI <4129YQ 6Q~~y ~~8€;1 QQ I 

CJl6Gl~~I QQ I 
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12!:... 
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25x2=50 

25 

25 

QS. <n'Y,l 'S]Q~8 Q~Q6Q CJl6<ffi11<9'gl8_Q ~Q~ 300 <31Q Y1~6Q Q6~~ QQ I 

25x2=50 
- - . < 

(a) (3~CJI CJl8_g1Qg1 <2112~YQ ~6€;1Q «JICJQ ~~I I 25 

(b) (3~CJI «1Y116Gl~~I «ll~~YQ CJIQI I 25 
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